1. The four primary tissue types are 
A. epithelial, cartilage, muscle, and brain.
B. connective, epithelial, skin, and blood.
C. epithelial, connective, muscle, and nerve.
D. glands, bone, lungs, and kidney.
E. bone, skin, blood, and muscle.

2. Which of the following pairs is mismatched? 
A. endoderm - bone
B. mesoderm - muscle
C. ectoderm - skin
D. ectoderm - nervous system
E. endoderm – lining of digestive tract

3. Which of the following characteristics is NOT consistent with simple squamous epithelial tissue? 
A. little extracellular material
B. rest on a basement membrane
C. has good blood supply within it
D. the cells are thin and flat (not thick)
E. found in mesothelium
4. Stratified epithelium consists of 
A. multiple layers of cells.
B. a single layer of cells.
C. a single layer of cells that changes shape when the tissue is stretched.
D. a multiple layer of cells that appears to change shape when the tissue is stretched.
E. None of these choices is correct.

5. Which of the following epithelial types is mismatched with its function? 
A. simple epithelium - diffusion
B. stratified epithelium - protection
C. squamous epithelium - stretching
D. cuboidal epithelium - absorption
E. columnar epithelium – secretion

6. What type of epithelial tissue is found in the stomach? 
A. simple cuboidal epithelium
B. simple columnar epithelium
C. stratified squamous epithelium
D. pseudostratified ciliated columnar epithelium
E. transitional epithelium

7. A tissue has the following characteristics: free surface, single layer of cells, cells are narrow and tall, microvilli, goblet cells. Which of the following is most consistent with those observations? 
(1) stratified epithelium
(2) simple epithelium
(3) columnar epithelium
(4) cuboidal epithelium
(5) squamous epithelium
(6) secretes mucus
(7) secretes sebum
A. 1, 2, 3, 7
B. 2, 4, 6
C. 1, 5, 6, 7
D. 2, 3, 6, 
E. 2, 3, 4, 7
 
8. What type of gland accumulates its secretion in the cytoplasm of the cell, the cell then ruptures and becomes part of the secretion? 
A. exocrine
B. endocrine
C. merocrine
D. apocrine
E. holocrine
9. Which of the following statements is true? 
A. Areolar tissue is tightly packed.
B. Dense connective tissue has a fluid matrix.
C. Mast cells are found in abundance in dense connective tissue.
D. Collagen fibers provide strength to dense connective tissue.
E. Elastic tissue is flexible, but not stretchy.
10. An infant born with a genetic defect that causes little or no brown fat to be formed will have 
A. difficulty absorbing nutrients from the intestine.
B. difficulty regulating his body temperature.
C. very stretchy tendons.
D. a reduced bone mass.
E. difficulty breathing.
11. Which of the following occur as a result of inhibiting the release of chemical mediators of inflammation shortly after injury in a tissue? 
(1) stimulation of pain receptors
(2) reduced stimulation of pain receptors
(3) increased permeability of blood vessels
(4) reduced permeability of blood vessels
(5) increased swelling 
(6) reduced redness 
A. 1, 3, 5, 6
B. 2, 4, 5, 6
C. 1, 3, 5, 6
D. 2, 4, 6
E. 1, 2, 5

12. Keratinization 
A. occurs in the dermis.
B. results in the formation of new epidermal cells.
C. produces a layer of cells that resist abrasion.
D. determines skin color.
E. does not affect permeability characteristics of the epidermis.

13. Which cells of the epidermis are part of the immune system? 
A. keratinocytes
B. melanocytes
C. Langerhan's cells
D. Merkel's cells
E. fibroblasts

14. The stratum basale 
A. is easily shed when you rub your hands together.
B. has a mixture of living and dead cells - mostly dead.
C. contains many blood vessels that nourish the epidermis.
D. contains cells that undergo mitosis to form new epidermal cells.
E. contains cells that undergo meiosis to form new epidermal cells.

15. Vitamin C is essential for normal collagen synthesis. If a child suffered from a vitamin C deficiency, which layer of the skin would be most affected? 
A. reticular layer of dermis
B. stratum corneum
C. stratum granulosum
D. epidermis
E. stratum basale

16. Which of the following statements is false? 
A. Most sebaceous glands are connected by a duct to the upper portion of the hair follicle.
B. Secretions from sebaceous glands provide protection against bacteria.
C. Secretions from sebaceous glands oil the hair and skin.
D. Sebaceous glands are an example of apocrine glands.
E. Sebaceous secretions are lipid soluble.

17. Bob was completely bald on the top of his head by the time he was 35 years of age. Bob noticed he produced abundant sweat on his head when he exercised. He also noticed that his scalp was no longer oily. Which of the following changes account for the observations? 
(1) He has fewer functional hair follicles now.
(2) He has fewer functional sebaceous glands now.
(3) He has fewer merocrine sweat glands now.
(4) He has fewer apocrine sweat glands now. 
A. 1, 2, 3, 4
B. 1, 2, 3
C. 1, 2, 4
D. 1, 3, 4
E. 1, 2
18. Intact skin provides protection because 
A. it forms a physical barrier against the entry of microbes.
B. its secretions keep the skin slightly alkaline.
C. macrophages roam in the epidermis.
D. the skin enhances water loss from the body.
E. All of the above.

19. Which of the following statements concerning vitamin D is false? 
A. Vitamin D begins its synthesis in the skin when the skin is exposed to ultraviolet light.
B. Vitamin D causes the kidney to excrete calcium.
C. Vitamin D is necessary for the uptake of calcium from the intestine.
D. Vitamin D is necessary for the formation of bones and teeth.
E. Vitamin D is important for calcium homeostasis.

20. With aging, individuals tend to feel colder and usually need the thermostat in their home set higher in the winter to feel warm enough. This is probably because the elderly 
A. no longer experience hot flashes at night.
B. exhibit a decrease in melanin production.
C. experience a decrease in the thickness of their subcutaneous fat layer.
D. have less blood flowing to the skin.
E. have an increase in desquamation.

Answers:

1. C
2. A
3. C
4. A
5. C
6. B
7. D
8. E
9. D
10. B
11. D
12. C
13. C
14. D
15. A
16. E
17. E
18. A
19. B
20. C
